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1. Choose the correct answer : 1x6=6

% Teachr qfe Sferear :

(a) How many terms are there in a proposition?

o1 OIS o7 (2D A ?
(i) Two

g

(ii) Three
A6

(iii) Four

w1

(iv) Five
{1561
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(2) | } (3)

e in a categorical

(b) 'Who advocated Venn diagram? “ ther
7 57 I raé BfRen . (d) How many terms are the
. ? syllogism? %
(i) A. N. Whitehead fageer T o1 W e
9. 9,
RIPrze , (i) Two
(ii) Augustus de Morgan o
MBS Fofiy ' (ii) Three
(iii) John Venn |
G (o (iii) Four
(iv) None of them e
ST g Ty (iv) Five
1561
(c) Inducti :
Wﬂducuve argument is concerned with (e) BARBARAisa valid mood of figore.
e
TR I 39110 s | BARBARA ___ e B TR %
(i) materia] truth only | (i) first
i) firs
SEEE D) STy : j EARe|
(ii) formal truth only ‘ (ii) second
P SRS ey R=&n
(iii) Both Material and formal try¢p, | (iii) third
TS S SIS g syogey 5 ¥
(iv) None of the above iv) fourth
ST qbrs Ty " s;vf
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(4)

(f) 'When is an implicative function false?

o RiReT Fom 939 fig =9

(i} If the antecedent is true (T) and the
consequent is false (F)

3 oot 371 = = e i =
(ii) If both antecedent and consequent are

false (F)
i oo oF oo Teey Ry =

(iii) If the antecedent is false (F) and the
consequent is true (T)
it oo iy =0 oI S o1

(iv) None of the above
ST ore T

2. Answer the following questions : 2x5=10

Oq PRI e forar
(a) What is term?
* e & qm 2
(b) Define a categorical proposition.

A3Cors 3579 sige faay |

(c) What do you mean by conversion?
TG et R @2
KB23/289
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(5)

(d) Construct a truth table for disjunctive truth
function.
RRR TOOER IR 9 oSl I
°qZS ¥

(e) Write the name of valid moods of the First
figure. ‘

o9 EA (34 JOFBR W fordr 1

. Answer any six of the following questions : 5x6=30

wo{ R G w1 R e o

(a) Distinguish between proposition and
sentence.
5 F IR TS A1F RoR F01

(b) Write a short note on traditional square of
opposition.
oIS R Read Iowas RIa «fb oy
ot fordt |

(c) Distinguish between truth and validity.
ool I (4O Ted e Rom 1 |

(d) Writea short note on reductio ad absurdum.
Reductio ad absurdumd Rca «ft & G
icall

( Turn Over )



(7)
(6)
. e the
.. b) What is truth table method? Construct
(e) Represent A, E, I and O propositions by ) truth table for the following expressions and
using Venn diagram. determine whether they are tautologies,
& B TSR 0 Dl =1 foaw v contingent or contradictory : 2+8=10
YIMT F90
. ool ofe@ e FRa o SR
(f) What is obversion? What are the rules of - R T o TR oFS FN WE
obversion? Write briefly. g ForTe, FoRe @ wRfETARAE,
AR I & o2 aferdm Pz B | o el 0 :
2 vtz o o

(i) (pvq)>D~q

(i) (p2q)vipVv~q)
(i) (~pVv~q)=(p Vq)
(iv) (~pD~q)-(~pV~q)

(g) What is informal fallacy? Discuss briefly.
SARIRE e R 2 v g w4

(h) What do you mean by fallacy of four terms?
Explain with a suitable example.

oot ¢ I R g e bt o \CECLE . .
o T o e ? (c) What is categorical syllo.glsm? Wt are the
i w h chief features of categorical syllogism? 2+8=10
i rite a short note on ‘ex; ial i ’
Write a shor N “existential import’. fraeers I 37 RIere TR 19 Q’REPER
Existential import’s Regy «fp ™ R oEe U,
9
4. Answer any two of the following questions : 5. Answer any one of the following questions : 14
10x2=20 o R GRIC bt 2 e o
o R T KBt e Taq oy ioure? Explain th
(a) What do you mean by Figure? Explain the
(a) What do you mean by induction? How do four figures of syllogism with proper
you distinguish between induction and diagram.
deduction? Djscuss. 10 R o7 T ORSG EA AF
R i[%za]
mmiﬁmﬁs{m?ﬁwmwﬁw ﬁ:—_«wq‘ﬁ]ﬂl
mﬁmm@ﬁmﬁm,m&%. o ( Turn Over )
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(8)

(b) By using Venn diagram, prove the following
arguments whether they are valid or invalid :

7 g R N ww  REBR
(q@I-Sigel fAefy 304 : |
(i) All mathematicians are philosophers
All scientists are mathematicians
-+ All scientists are philosophers
e aftee 77 v
R [T W ftew
CSF, R ([T 7 e
(i} All players are men
No men are idiots
.. No idiots are players
TR (R W TR
CRTCTT TR =
TR, (P! Y T T

% J %k
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